Review

June 21, 2014 2:24 PM

(1) Simphiy | Trde Rashickions

=25 9x b) 32+ 7a . 14+ 6a

a =
) 1243 22 + 10y 16 — g2 3a+12
) 952 + 9x + 2 3\'2—4x+1 d) -1 L 2 -x-1
3t —x-2 9x* -1 ¢ —5x+2 Xt -4
O S\mo;\‘%a skt veshicKons .
2% —5¢x -3 2\ — 6x — 36 332 — 5y =2 3x2 — 24x + 48
a) = b) = X
5x2 — 45 1v2—11\— 22— 12x + 16 9x2 — 1
)202+a710 . 4a* - 25 d) 4.\f2712\‘+9+.\'272.\‘+1
5a® + 1542 20> +a-15 22 —x -3 42— 4

O S\m? \((‘a “:\'A\C \'-ES\Y‘\o\\\h\S

5 2
) 5+ 5 Var t s
¢) x+2  2x+1 d) 6+m 1+ 5m
2r+1 2y -1 4m+1) 2(m—1)
y—>5 yv+2 2 1
€) ”("4‘7) y=3 f)x3—4+.\‘2—x—2

O ti)\m,?\{\'(a\\a, ‘QRC\\( S0 ‘“\DC‘Y rtmum\\\ﬁ gmﬁw g \.\&% h\@ {\:\i

N w + 27v3 ‘p) 64x3 — y3

¢) 3x*T—5x+2 3,)11’3—.1’—]

) Sx% + 26x + 5 £ 12x2+ Tx + 1

3) $x% + 2x2 — 5x W 1yt — 5y2 + 2y

'u) %1(1 —3) — 4x—3) 0 %_\r(_\: +1) =2y + 1)
W) (r— 1) — 49

l) (x2 + 1)2 — 4x2

‘) 2x(x — 5)* — x3(4)(x — 5)°
‘.}) 5(x0 + DH6x3)(Bx + 2)° + 33x+2)2(3)(x° + 1)°

(J) E(xz + 1) = (x2+ 1)

AlgebraP2 Page 1



